56.

51.

52.

53.

54.

55.

is 45 yeas: b
of ;wr.-:-; ages (Ym yoais
present age © SOl

(A) 9 years
(C) 15years

and his
os of a father 8e 1 et

(B) 10years
(D) 5 years

ial
it 5 is the zero of the polynomi& .
f{x) - ax+(2a+ 1) x—5then value of a 1s

L
A = B F

3
(C) 0 (D) -35

Dehati fair is held at
(A) Karnal
(C) Faridabad

(B) Kaithal
(D) Panchakula

Which of the following movements, the
British Ra] was shaken to its foundations

for the first time since 1857 fi
independence ? g o

(A) Swadeshi Movement

(B) Home Rule League Maovement
(C) Rowlatt Satyagraha

(D) Nen-Cooperation Movement
Find the Word which is di

other 3 mpﬂma.giuen !::Eeldc::?mm from the

A) Carrot
(A) "~ (B) Potato

) Tomato
bt (D) Beetroot

;:quma'f“" “m;‘{ EUiCUr R
_qrr@d 3
a-* eIl
0. WIARE ) 2
(A 20 (D) 18
9 ¥ ,%**ﬂaﬁi#'% r &
“ﬁlp*ﬂaﬁ :qﬁ*:'ﬁlﬁp*tﬁrdfsﬂqg_
51. P ;
Hﬁ*‘i (E} 6
(A) 51 D) 69
©) 17 .
FI M 45N & | 91T
% ﬁﬁmﬁ%ﬂ? 124 91 | T3 F
74 44, i
5 L |
?ffi??‘ (B) 1?
©) 1579 (D) 5
53 aﬁa-gqﬂﬂf(x).-.axu(zan)x-aaﬂﬁ
. FIHA T
S'EﬂEE,Eﬁa j
(A) 3 (B) &
(€) O (D) - 35
. e o o Bre € |
(C) Wr=EmEmg D) T
55. T=fefEs T g g AT B 1857 - -

I FAW F =g gRet Tt &
R o farfesr T

(A) TRl stEem

(B) ¥W ¥ ¥ aridrers
(C) Ttz Heamyz

(D) e st

ﬂﬁﬁ%ﬁ?%ﬁﬂ\m?ﬁqfﬁ%’r i

(A) TR
(C) znmmey



8 the correct meaning of the underlined idiom
-.givan options.

3 speaker of the Lok Sabha stirred _p

ahomet's nest by referring to the impending
changes in several rules.

(A) make an untrue story
(B) raise controversy

(C) confused himself

! .) perform a difficult task

'You cannot befool me, as | was not born

yesterday.

%

(A) weak

(B) worldly wise

{C) unable to understand

i

(D) give false hope
the blanks with suitable articles wherever

gave me one rupee note.

(A) Not needed
(B) The

© Ar

D) A

" f_}:'l honour to his profession.
\) The

3) A

) Not needed

E—“ﬂ“ﬁh Lﬂngum
Fill In m'blﬁnk’
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wﬂh thﬂ Eurrﬂ.ﬂt ﬂp“ﬂﬂ&;

layed by the
“They could

M‘ ' '\"HE. thay o

73,

— =

(©) could been

(D) couldn’t have been

. andisclearly
(B) Intended to be
(D) Intend to be

74, The report s very critical
(A) Intended to
fc] Intended

Pick out the wrongly spelt word from the given
words.

Villaineous
Receive

75. (A)
(B)
(C)

(D)

Etiquette
Lieutenant
Sollloquy

6. @)
®
(C)

(D)

3

Fill in the blanks with suitable forms of verbs.

___(read) since 2 O'clock.

) An

13-

77. We
(A) reads 4
(D) hasbeen reading
i :
1 g (get)
 (B) got
(D) has got
P
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apheﬁcai lens
of + 25 cm. The

ve and lens is convex
ex and lens is concave

foy & s e € |

nanufacture of |

ird bt J was fought

~(B) 1526
133-1?39
I

| "é;t'!r was recently
ar public listar.l




1
TR
[

-
# was &
Tt Wt ﬁ@ﬁm%wmﬂ
3 faareaTd | PR o, g, T
F T qf=d 9, 1 8 ad-
9. fugn + AHM T‘gﬁ o Em:wﬂm
?- - i | @) e, d 2 1, AEA
S (D) | ﬁﬂaﬁa;, wh e %
(A) gfa &M a7 ot ST e Hgfﬁ;arrﬂﬂ‘i‘f q
. %Wﬂﬁwﬁ“ﬁmﬂ (C) fahreeh, A1 oifan, 9ga+
80 aﬁuﬂ@‘aﬂm_‘m t .
(A) ?ﬁq {D} T | %?
g I | FARID o
g§1. [y=fafad ) — 72
(A) Hifreaane! . . }HE
: J 5 ye2 F wEEaTE!
o g7. Fr=fefEaa 9
[D} i (B) a4
e i nt o
82. eﬁﬁﬁfm El?] e %?
E;L el AT e
2 ’ F -9 I9E
: T e
3. A4S 3. 59 {g; ' ®
d mm 2-%§ 3-3 4-% { e
(A) 1- BLd TR A v et
o i . . e
:E; 1-3 2-§ 3-3n 4-3 ” ﬁiﬁfy}ﬁm
(C) AT
I (D) Hf& 3w
HTel}
(C) el ﬁﬁm%
(D) TR A
2 M m = ﬂﬂ[[q;[ (TI'ET“T} g8 {E) mﬁmm
84. mq J?![r‘l.':m*m'l'ﬂt? p mﬁmw
i dcqey {E].i nﬁ
t?-+ 'ﬂ%’ﬂ Hig9 (D) ﬁal
(C) °
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mwéﬁmu 41 |

I G:;‘.mt:::m "ﬂ;n dioxidein | & afatt mﬂ 2 tlT'ﬂ AR |
the air to form green A) ST m
(A) Copper oxide B) F FATAL
(8) Copper carbonaté :- ©) — FAES
(C) Copper chioride C o S FAIEE
3 (D) Copper carbide _ g
g. Area of the circlei:wmﬂdi"ﬂﬁq”me of 3- 3 1?;“%@3*‘& &
side 1 cm IS i %
® Zom ® 7™ (A 5o Gl
ol ) wom: (D) 2xon? (©) nem (D) 2mcrm
40. The Shivalik Hills are not found in the | 10 ﬁqﬁﬂ‘#‘ﬁﬁ e ¥ el B
~ districts of g ré S 2l
: (A) Ambala (A) STl
(B) Panchakula (B) 9 F
(C) Sirsa (c) fewan ;
(D) Yamunanagar (D) AT
— |, Approximately one cusec water is equal 10 1. 1*@* e T ____% TS B ® |
(A) 28.317 litre/second (A) 28317 WRY/EFS
(B) 28.317 litre/minute (B) 28.317 efiey/fire
(C) 28.317 litre/hour (C) 28.317 diet /e
T (D) 28317 litre/10 second (D) 28317 fex/10 ¥
12 Ifg" July was Monday, then 26" July of tne
same year was
oLl ’ Wednesday (B) Tuesday
T (C) Thursday (D) Monday
__ s the first governor of Haryana.
ri B. N. Chakraborty
e ‘Shri Dharma Vira
C) shriR. S. Narula

D) Shri G. D. Tapase




2. Find

= W
AT |

Aruna with the grace of lord Shi
ﬁi‘ called

(A) Agneyastré (B) As
(C) Pashupatastra (D) Mrita Sanjiv

he distance between the points (a
il Pt 4| ,

.__!_.-F-.,'.. hta
J "1'.1{--'!-' -

Gurgaon district o
the year
(A) 1973
(C) 1979

The SUM of two dinie _

number forr ~. Tl
the digits is 154, ff the w3 1
numberis " ' ts ¢
(A) 950r59 -
(B) 510r15
(C) 260r62
(D) None of the

1. EHEIHIE 2

(A) a1 i 3R A i wfef
(B) e i i e = fafswE
(©) e i SR i R
(D) St & =i e = it

2. q‘awa.m_zu,?.cm,saﬁﬁmﬁﬁnmﬂ

call
(A) 25
(C) 29

(B) 27
(D) 31

(C) YT
4. fig(a,-b)3M (—a,-b)FAEHHR

(B) 0
(D) +/2(a+Db)

(A) V2a
(C) a

5. TSl 1% AV, FHE 6 Al
#1 AT &L |

(A) dTed
(C) FIE

6. &fmm & enia foen ad
(A) 1973

(B) e
(D) ™

T 547 |

(B) 1966
(D) 1995

7. UF & I il G 3 FF| 6 FH 8o
H T HEAT 1 AT 154 B | 42 37 & i
4%, T & B

(A) 95o0r59
(B) 51o0r.15
(C) 26 or 62

(D) TH & F1E 7

(C) 1979




4/2018 (1) (M18)

(1]
i Mahal is located at R b
NA) Kamal (B) Hisar 57, wm (B) fow
:rp] Ambala (D) Panipath g e (D) qrtta
~ jn which part of Himalayas do we find fmio v
] | ym J I HRE
ﬁ%n&:nnmmn. RS Y00 of ooy | Y mmm cqrant ST £ 7
(LY North-eastem Himalayas (A) Tﬂl'{-"@ fmed
_{B] Eastern Himalayas [H] @.W
(©) Himachal-Uttarakhand Himalayas C W-ﬁmw
(D) Kashmir Himalayas ".:‘ fawrer
(D) TN
The values of x and y satisfying the | 3
e by) = 38 +2b =
. ec nﬁlu+h}']=33 oh d 549, WG{“"' -
W-EF}=3b-Eaara+ - 6(bx — ﬂgﬂh—ﬂﬂﬁm + 1
i 3l y HTH R
s 7" 3 Ly 2
(B) x=l.w_.r=3 A 2 T
tc] = 21 F =3 2. 3
i{ = 2l y = i
i None of th ©) % '
% ™ (D) it & i A “
Normally, in & healthy adult, the initial fil 5 - -' -
\in the kidney is about Ii1:|r|45-.1a;’::|1&11:.”:IlTLEL s 'Hﬁﬂﬂﬁ o Eﬁ;mﬁﬂﬁm *‘Tkwﬁnﬂﬂﬁ Wﬁ
(A) 60 (B) 120 Tﬁ“‘  (B) 120 B
(C) 180 (D) 90 : =
(C) 180 (D) 90
.I:. 33" parallel north frequently in news, 61. 38 o FHHIL mmﬂm HorEn | 9,
* Border line between North Korea and Tt -.
_ Russia (A) ﬂﬂﬁtﬂsﬂww%ﬂ‘iﬁtﬁm%m
= E[’dtﬁr'gl; IE:'IEIMEEH North Korea and (B) <l e ﬁmﬁ?ﬂﬂaﬁ S
Military exercise between South Korea el "
i and USA | (C) R e S T il 1 T
D) Military exercise between Russia and g
North Korea
he highest point of Momni Hills is Known! as | 62
A) Karoh Peak (B) Garoh Peak
'f ‘Tosa Peak (D) Grasher Peak
-11-




A

g FHK, oQT & fee T e
18) theoptions | g3. % NPS':-: | '
4/2018 (1) (M e - mfr:_“" (7) 9 (B) DFJ
_rr m
. ( c) CE
(A) EGJ ( -
(c) CEH e a. e & S e 3 e
8 mﬂrﬂﬂQE In .
64. Cash reward for I 2 tuOOU (B) ¥. 50,000
Haryana Is A) 5. 10,
A AS10,000 (B) Rs. 50,000 ( -5 000 (D) . 1,00,000
o S (D) RO CrEs R
(C) Rs.75 el 3 1 W S
: 5' nzrﬁ‘ -E"H m m -
65. “There can be no spirit of elf e n:;z:" 3 o &l aﬂﬁtﬁﬁi’f ST 2 &, at g an: F
about us, if we take away or alIOWOHETS Waﬁraﬁimqﬁ% | EHIT HIE
0 take from the peasants aimost {1010 S 2 EGICEIS
f 4 their labour. Our salvation ﬂ;‘ﬂ]ﬁqﬂ' THFATE |
of the results of _ Fad FID A E |
can only come through the farmer. NEltljer 7 faferca, T8 mkaﬁhﬂﬂﬁﬁﬁ ‘
the lawyers, nor the doctors, nor the rich 217 &1 7T |
\andlords are going to secure it". The I uftg 44
famous quote is uttered by (A) WTATEE
(A) Bhagath Singh o o—
(8) Chandrashekhar Azad (B) =HIER
(C) M. K. Gandh (C) TH. . TiH
(D) None of the above (D) % 7 ¥ &g A&
66. Which of the following form an AP ? 66. fr=ferfiaa @ | =19 u= guter Aoft s=md 7
(A) 1, @, (A) 1, 1;2.2:3. 3=
B) 0SS (B) 0.3,0.33,0.333, ...
©) 2 GAENE. ©) V2.2,242,4,..
(©) 9.9+V3,9+2/5,04348, .. D) 9.9+V3,9+2/3,9+33
67. Haryana government in the year 2015 67. e 3
declared that it will develop t b1 ' T 3‘5201 5ﬁﬂiﬂﬁ'ﬁﬁmrﬁ
as the smart city, " A3 @Wm%mﬁﬁﬁﬁm
(A) Gurgaon (B 4 |
| ) Ambala (A) 1\]3-“13
(C) Panipath (D) Thar C) e (B) amemn
68.  Which of ti&iollowing collitries dogs ne; sl (D) aw
touch MEﬂitErrangan sh S No 68 ‘q.nqa-a.“
(A) -Greece {:}m;pa' T 7 Sl T2 =1 wyf e
in
(C) Turkey (A) g
(D) GBTTT'IB.H}' (C) =% E[B})} Fh'il

12-




R g

i fafa
o 5 W IS F—
R {M'IEJf igction of the ' < Al ﬂm'ﬁmt l
e - _
38. IQ:;:,E o fixed DY A) oy 7 T

(A) Spﬂakurprﬂtﬂﬂm | B) WWH =

®) Rajyasabhe Chalmet (s () " e

(©) Minitrfor Pariameni&yE o) A FE T

(D) None of the above 4
anfrarit 5x + ky = 3 3T foc + 5y =3

b
by - 3 | 3. )
39. I the equations 5x + ky = 3 and IXEESY oo Y ) e & Al k =

represent the same line then K Se (A) 1
)8 t B) 5
(B) 8 C) 3
o F F§ T8
(D) None of these ©) gﬁ
' 7
40. Ranjit sagar dam is constructed on which | 40 iféra e ate form 7 T A R
of the following rivers ? (A) ot (B) gzﬁ'a
(A) Ravi (B) Sutlej
(C) Beas (D) Chenab (C) =A™ (D) =A™

41. |f 2cosec® 30° + xsin?60° - 'E-tEIn* 30° =10 41. I3 2cosec? 30° + xsin260° — a tan?

then value of x is 30°= 10T X FIHH B

(A) 1 (B) 2 (A) 1 (B) 2
(C) 3 (D) 4 (C) 3 (D) 4
42. Tiriya ke Masmoom is written by 42, fefen & wenm T e man |
(A) Altaf Hussain Haali
_ (A) STeaTH T8 BT
(B) Amir Khusro (B) 3R ?gafi
(C) Umrao Jan (C) ITE 99
43. Who among the following is known Fafafes Ti¥E =g whrafe
forthe | 43, :
famous quote, “an {ncontrolled pen serves Feg ;‘2 i F 1
(A) Leo Tolstoy f%l;‘\ 3
(B) John Ruskin E:i -
EIERI=~

(C) Mahatma Gandhi
(D) Swami Vivekananda




llIllll
r. X walks 1 Kkm tow towards g East and turns

W
rlght and walks 3 km.
walks 4 km. Finally
How far is he from the

He gg.nlnlums left and

(8) 13km

(A) 20 km

[C]' 16 km [ﬂ} None of these
45. |f P(E) = 0.45 then prnbability of ‘not E' Is

(A) 0.6 (B) 0.55

(C) 05 (D) 1

Three cubes ea ach of side 1 cm aré joined

F end to end, the surface area of the resulting
solid is
(A) 7 cm* (B) 14 cm?
(C) 3cm’ (D) Bcm?

district is famous for light

—

engineering goods industry.
(A) Ambala (B) Rewarl
(C) Faridabad (D) Gurgaon

Match the following :

|. Jai Jawan Jai 1. Lal Bahadur
Kisan Shastri

Il. Jai Jawan Jai 2 Atal Bihari
Kisan Jai Vigyan Vajapayee

Act East Policy 3. P. V. Narasimha
Rao

IV. Look East policy 4. Narendra Modi
Select the right code :

(A) |-111-2 mnm-3 v-4
B) 1-111-211-41V-3
€) I-2 -1 M-3IV-4
D) 1-2 1l—1 W-41V-3

.
Illl-

Complete the analogy.
Video : Cassette : : Computer : ?
(A) Reels (B) Floppy

(C) Recordings (D) Files

49,

e IRV
) #@&%hagﬂ:ﬁw 4 e
«azimﬁw:ﬂ;;ﬂ;fmw
qer 'ﬁﬁﬂ!‘a |
!Ii GM_ {B) 13@.
(A) iaﬂ?‘ﬂ (D) ¥ 8 R
hl.r“g) R :
R PE)=045T i
45. b 26 (B) 0.55
A . 1
(© 05 i |
' e o - gl o €
B o 3 i A ?
. ;ﬁm‘iz‘: oo SR 77 &
A 7 cm? (B) 14 cm
(©) 3o (B © e
a3 __#___ﬁmﬁamnﬁﬂfm 1 =7 JAM &
s |
(A) FT o
() HEeTa §) =

- frm  fagm
(I, T8 A R A 3. . =, T T
V. E AR @ A 4. T T
ae Fe T ¢
(A) I=1 1-2 -3 V-4
(B) I1-1 ll=2 -4 V-3
(C) 1=21=1 W-3 V-4
@) 1-211-1 WM-41vV-3




& Indian Constitution was borrowed from
the Constitution of
(A) France B) Canada
(D) UK

(C) Australia

a9, Which among the districts in Haryana has
" highest population density 7
(B) Panipat

(A) Gurgaon
(D) Sirsa

(c) Faridabad
as ‘64' then '‘EXAM' is

fise
a4

If ‘TEST is coded
coded as

(A) 34
(C) 45

(B) 43
(D) 44

34. 50 J of heat is produced each second in
a 5 Q) resistance. The potential difference
across the resistor is

(A) /50 V (B) 40V
(C) 5V10V (D) 10V5 V

% InAABC, AB=2./5cm, AC =10cm,
BC =45 cmthen B is

(A) 120° (B) 60°

(C) 90° (D) 45°

6. In which of the following states the saddle
peak is situated ?

" (A) West Bengal
(B) Andaman and Nicobar

(C) Goa
;{D} Coconut Island

hari Pension Thare Pass Scheme introduced
r[ng 2015, with a view to ensure
| A) Transparency in pensions

';:- Transparency in guvernment results
(C) Transparency in supply of cooking gas
j':'“ Transparency in social security

4/2018 (1) (M18)

33 J.ﬁﬁ.r*'resr -c‘ﬂ’fa'm*%,ﬁ" EXAM <1 e
(B) 43

..A. y,
(A) D) 44

25, AABCH, AB =25 i, AC = 10 &1,
BC =445 TN B ®

(A) 120° (B) 60°
(C) 90° (D) 45°

36. e & e e T e =) v ® 7
(A) fvey ST
B) ¥reaH 3w
(C) T
(D) ATRAH &Y HHR

oril $99 4R T FSE 2015 F AH,
Hifeem #@ & foo e A1 7S |

(A) TR grEfta

(B) T Wi # wreafifar

(C) =T aAeht g = amgfd & arefiian

37.

pensions

(D) =TT e Far i wreafitan
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14, Theriver Yamur®

B) Molniai
[G] Medite .
(D) Tropical eV

(A) '} T

(A O R




4/2018 (1) [m!l g0
Jahan? (E
(A) Nadif =8, (B
[G} al :“l_" ik

26, Find the NUMESEE

3 numbets: [ﬂ
(A) 29
(C) 3=

27. HUHMM
(A)
(B)
(C)
(D)

Whic
estabil
Decar

(A) £
(B)
(C) G
(D) G

28.

______

29. Solutio
4./3x -
(A) V3,

©) ‘é—i ,

30. The second battlag
between Hemu ang

Panip

(B) Nadir Shah
(C) Akbar

AR

25. Wﬁmﬁﬂﬁﬂ'{?ﬁiﬂ?@?
(A) AT TE (B) T

(C) EHE IME (D) =79 el
26. maﬁﬂﬁiﬁﬁﬂmﬂaﬁl

(A) 29 (B) 31

(C) 39 (D) 41

27. HUHM %1314 2
(A) 2fron e 2o HeH
(B) =frroT 3709 &4 A
(C) frTon 37t AR WA

(D) RT3 BHA ThH

08, T ST ferhETaRoT ATSiT hl T
i wegfar e afafa 3 1 7
(A) I Wl wHfd
(B) weldd UG @Al
() it &ft, %, Ta winfa
(D) TTefe wiafd

29. ‘Hﬂ’ﬁ'{ﬂ 4\’5}{2_"5!_2\@':0 a{ﬁ%

-2

® V3.7 (B) }?_Ti
43 =4

2 5 D) V3,2

30. A ¥ 7e 77 3 s
GERIDIE

(A) T
(B) Tfet vire
(C) I+

(D)

33.

34



